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s_uart0_used=1
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sys_config s K 5 [dram0]
TEE AN B dram0_zq=0x77bb
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[spio]
spi0_used=1
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[spi0/spi0_board0]
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B FHEFRAORIMECE, R AR oo 7B [s_uart0]
s_uart0_tx=port:PL02<2><default><default>"
device treef_
Zallwinnérs_rsb";
f03400 0x0 0x400>;
C_SP139 IRQ_TYPE_LEVEL_HIGH>;
="default";
&s_rsb0_pins_a>;
5 AR 1able B Pilsys_config - 4 IL T
“Tsb0]
s_rsb_used =1
s_rsb_sck = port:PL00<2><1><2><default>
s_rsb_sda = port:PL01<2><1><2><default>
50c@01c20000{
vdevice0: vdevice0{
compatible = "allwinner,vdevice0";
vdevice0_prop_1=<10>;
status = "okay";
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50c@01c20000{
vdevice0: vdevice0{
. compatible = "allwinner,vdevice0";
device tree ] (GRAL SR as g k51 € vdevice0_prop_1=<0x10>;
status = "okay";
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device treefit & :

50c@01c20000{
s_rsb0: s_rsb@1f03400 {

compatible = "allwinner;s_rsb";
device_type = "s_rsb0";
reg = <0x0 0x01f03400 0x0 0x400>;
interrupts = <GIC_SP1 39 IRQ_TYPE_LEVEL_HIGH>;
pinctrl-names = "default”;
pinctrl-0 = <&s_rsb0_pins_a>;
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T Edevice treel %11 A device typel@ i, status = "okay";
JEMEAE A sys_configh) L4 13
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sys_configlit & :
[s_rsb0]
srsb_used =1
s_rsb_sck = port:PL00<2><1><2><default>
s_rsb_sda = port:PL01<2><1><2><default>
/{
50c@01c20000{

vdevice: vdevice@0{
device_type = "vdevice",
compatible = "allwinne
pinctrl-names = "default”
pinctrl-0 = <&vdevice
vdevice_gpio_1 = <&
status = "okay";
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&pio, CPUSIEFIGPIOfE i &r_pio

pins_a: vdevice@0 {
winner,pins = "PB0", "PB1";
allwinner,pname= "vdevice_pin_0", "vdevice_pin_1";
allwinner,function = "vdevice";
allwinner,drive = <2>;
allwinner,pull = <1>;
allwinner,data = <0>;
Y
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vdevice: vdevice@0{
device_type = "vdevice";
compatible = "allwinner,sun50i-vdevice";
pinctrl-names = "vdevice-default”;
pinctrl-0 = <&vdevice_pins_a>;
vdevice-gpios_1 = <&r_pio PL0 12 3 4>;

status = "okay";
b
b
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sys_confighit & :
[vdevice]
vdevice_used =1
vdevice_pin_0 = port:PB01<4><1><2><default>
vdevice_pin_1 = port:PB02<4><1><2><default>

vdevice_gpios_1 ort:PL00<1><1><1><1>
vdevice_prop_1  =0x1234
vdevice_prop_3 = "device-string"
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